A CLASSIC LOGIC PUZZLE “WHO OWNS THE ZEBRA ?”

(1) There are 5 men each of a different nationality.
They each lives in a house of a different colour, eats a different food, drinks a different drink and keeps a different pet.

(2) The Ukrainian drinks tea.

(3) The Japanese eats pizzas.

(4) The Italian keeps an octopus.

(5) The Englishman lives in the red house.

(6) The man who eats noodle keeps a quail.

(7) The American lives next to the blue house.

(8) The American lives in the first house on the left.

(9) The man who eats doughnuts drinks lemonade.

(10) The man who lives in the middle house drinks milk.

(11) The man who lives in the green house drinks coffee.

(12) The man who lives in the yellow house eats spaghetti.

(13) The man who eats hamburgers lives next to the man who keeps a fox.

(14) The man who eats spaghetti lives next to the man who keeps a kangaroo.

(15) The green house is immediately to the right (i.e. to your right) of the white house.

Now, who drinks vodka? And who keeps a zebra?

(8) says that the American lives in the first house on the left. What is its colour?

Not red (by (5)), not blue (by (7)), not green (by (15)) and not white (by (7) & (15)).

Therefore the first house on the left, where the American lives, must be yellow.

(12) ( the American eats spaghetti.

(7) ( the second house on the left must be blue.

(14) ( the man who lives in the second house on the left keeps a kangaroo.

The 5 houses are arranged as follows but we don’t know whether the red house is in the middle or on the extreme right:
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Assume first that the red house is on the extreme right.

(10) ( the man who lives in the white house drinks milk.

Where does the Ukrainian (who drinks tea) live? Must be in the blue house.

Who eats doughnuts and drinks lemonade? Must be the Englishman.
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(6) ( someone eats noodle and keeps a quail. Who is it?

Not the American, not the Ukrainian, not the Englishman, not the Italian (who keeps an octopus) and not the Japanese (who eats pizzas). We have a contradiction here.

Therefore the red house must be in the middle. Also the Englishman drinks milk.

yellow
blue
red
white
green

American

Englishman



spaghetti







milk

coffee


kangaroo




(9) ( someone eats doughnuts and drinks lemonade. Who is it?

Not the American, not the Englishman, not the Ukrainian (who drinks tea), and not the Japanese (who eats pizzas). Therefore it must be the Italian.

Where does the Italian (who eats doughnuts, drinks lemonade and keeps and octopus) live? Must be in the white house.
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Where does the Ukrainian (who drinks tea) live? Must be in the blue house.

Where does the Japanese (who eats pizzas) live? Must be in the green house.

Who eats noodle and keeps a quail? Must be the Englishman.

Who eats hamburgers? Must be the Ukrainian.

(13) ( the American keeps a fox.
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Therefore the American drinks vodka and the Japanese keeps a zebra.

